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a]Ã^  f ª◊TˆX H∞RÙOÁ (Time : 3 Hours) 

Y…SÔ]ÁX  f 100 (Full Marks : 100)  

]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% (Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 
 (Eı) \ˆÁÃ[˝„TˆÃ[˝ c˜O◊Tˆc˜Á„a %rÙÁV` `Tˆ„EıÃ[˝ TˆÁdY^Ô Eı› ? 
 (F) 1765 ÂU„Eı 1793 Y^Ô‹ôˆ [˝Áe_ÁÃ^ c˜O∫ªRÙO c˜O◊â¯Ã^Á 

ÂEıÁ+Á◊XÃ[˝ \…ˆ◊] Ã[˝ÁLÿëˆ X›◊Tˆ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 
 (G) %ac˜„^ÁG %Á„≥VÁ_„XÃ[˝ YªRÙO\…ˆ◊] [˝ÓÁFÓÁ EıÃ[˝”X* %ÁY◊X 

Ac˜O %Á„≥VÁ_„XÃ[˝ ]…_ÓÁÃ^X Eı›\ˆÁ„[˝ EıÃ[˝„[˝X ? 

 (H) 1947 aÁ„_Ã[˝ \ˆÁÃ[˝Tˆ \ˆÁ„GÃ[˝ Y“\ˆÁ[˝ C Zı_ÁZı„_Ã[˝ 
]…_ÓÁÃ^X EıÃ[˝”X* Ac˜O Y“a„Ü =•Áÿô«ˆ Y«X[˝ÔÁa„XÃ[˝ 
a]aÓÁÃ[˝ =‰{F EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 
(Eı) 1905 aÁ„_Ã[˝ [˝Ü ◊[˝\ˆÁ„GÃ[˝ EıÁÃ[˝Sm◊_„Eı ◊ªJÙ◊c˜‘Tˆ 

EıÃ[˝”X* 
(F) 1935 aÁ„_Ã[˝ \ˆÁÃ[˝Tˆ `ÁaX %Ác˜O„XÃ[˝ È[˝◊`rÙÓm◊_ 

[˝SÔXÁ EıÃ[˝”X* \ˆÁÃ[˝Tˆ›Ã^ Ã[˝ÁLX›◊Tˆ„Tˆ TˆÁÃ[˝ Eı› Y“\ˆÁ[˝ 
Y‰QÕˆ◊ªK˜_ ? 

(G) DY◊X„[˝◊`Eı \ˆÁÃ[˝„Tˆ ◊`îÁÃ^X Y“◊y‘Ã^ÁÃ^ YÁªRÙO ◊`î C 
Â_Ïc˜-c˜O&ÁTˆ ◊`„îÃ[˝ \…ˆ◊]EıÁ ◊[˝‰`¿bS EıÃ[˝”X* 

(H) >X◊[˝e` `Tˆ„EıÃ[˝ Y“U]Á„W˝Ô \ˆÁÃ[˝„Tˆ YÁ∏JÙÁTˆÓ ◊`l˘ÁÃ[˝ 
%G–G◊Tˆ Y^ÔÁ„_ÁªJÙXÁ EıÃ[˝”X* 

(I¯) LÁTˆ›Ã^ ]«◊N˛ aeG–Á„] a«\ˆÁb ªJÙ≥V– [˝a« C TgˆÁÃ[˝ %ÁLÁV 
◊c˜≥V ÂZıÏ„LÃ[˝ %[˝VÁX ◊[˝‰`¿bS EıÃ[˝”X* 

(ªªJÙ˜) ÿëˆÁW˝›XTˆÁ-=w¯Ã[˝ \ˆÁÃ[˝„Tˆ aÁ]Á◊LEı XÓÁÃ^◊[˝ªJÙÁÃ[˝ %Á„≥VÁ_X 
ÂEıÁXÀ ÂEıÁXÀ Âl˘‰y ◊[˝Eı◊`Tˆ c˜„Ã^◊ªK˜_ ? 

3* ªRÙO›EıÁ ◊_F«X ( Â^-ÂEıÁ„XÁ ªJÙÁÃ[˝◊ªªRÙO ) f 6 × 4 = 24  
(Eı) [˝jÁ„Ã[˝Ã[˝ ^«à˘ (1764) 
(F) LGd Â`Pˆ 
(G) }Á]Ó]ÁX Eı◊]◊ªRÙO 
(H) ◊ªK˜Ã^Áw¯„Ã[˝Ã[˝ ]Xü‹ôˆÃ[˝ (1776) 
(I¯) a«Ã[˝ÁªRÙO Eıe‰G–a (1907) 
(ªJÙ) Y…XÁ ªJ«Ù◊N˛ (1932) 
(ªK˜) ae◊[˝W˝ÁX FaQÕˆÁ Eı◊]◊ªRÙO 
(L) ÂLÁªRÙO◊XÃ[˝„Yl˘ %Á„≥VÁ_X* 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) What is the significance of the 18th century 

in the history of India ? 

 b) Review the land revenue policy of the East 

India Company from 1765 to 1793 in 

Bengal. 

 c) Explain the background of the Non-

cooperation Movement. How do you 

evaluate this Movement ?  

 d) Evaluate the impact and consequence of 

the partition of India in 1947. In this 

context, point out the problems of refugee 

rehabilitation.  

2. Answer any three questions : 12 × 3 = 36 

 a) Identify the causes of the partition of 

Bengal in 1905. 

 b) Describe the features of the Government of 

India Act, 1935. What were its impacts on 

Indian politics ? 

 c) Analyse the role of jute and iron-steel 

industries in the industrialization process 

of colonial India. 

 d) Review the advancement of the Western 

education in India during the first half of 

19th century. 

 e) Analyse the contribution of Subhash 

Chandra Bose and his Indian National 

Army to the national liberation struggle. 

 f) In which fields did the Social Justice 

Movement develop in post-independent 

India ? 

3. Write short notes on any four of the following :  

   6 × 4 = 24 

 a) The Battle of Buxar (1764) 

 b) Jagat Seth 

 c) Committee of Circuit 

 d) The famine of 1776 

 e) Surat Congress (1907)  

 f) Poona Pact (1932) 

 g) Draft Committee for Constitution. 

 h) Non-Aligned Movement. 

    


